48 =2 d7F T4 (&4 2571 =)
chel. M2, E, %
~o am 16 48 (2g) SHE(HE) e 48 (FH) SHE(FAH) | FEIHEE) | =EIHEFA) | SOHESHE)
=N == =N s =N ST =N 2 | 154 | 164 | 154 [ 1ed | = | FA
-l 1,219,426 234,168] -12.8 -8.3 4,347,427 868,455 -8.0| -1.5| 5.47| 5.21 5.36| 5.01| -4.9| -6.7
1 |HEY 251,630 28,7928 56| -4.3 804,515 95,163 -1.1 0.3 886| 8.74| 8.58 8.45| -1.4| -1.4
2 |&= 191,730 28,595 -8.3| -6.8 664,868 101,353 -5.1 3.1 6.81 6.71 7.12 6.56| -1.6]| -7.9
3 [el=U|Alof 112,081 15,599] -3.0 11.5 375,637 53,230 -7.4 50| 8.26| 7.18 8.00| 7.06| -13.0| -11.8
4 |o]= 107,666 24,761 -11.3| -3.3 415,375 96,234 -9.3| -1.0| 4.74| 435 4.71 432 | -83| -8.4
5 |[¢& 70,948 8,403] -5.7| -9.9 268,898 35,570 0.4 1.8| 8.06| 8.44| 7.66 7.56 47| -1.4
6 |22 41,147 5,650 -31.8| -19.3 150,330 19,222 | -19.6| -6.6| 8.78 7.41 9.08 7.82| -15.5| -13.9
7 |ofEtollo|2|E odgt 28,984 4,216] -36.8| -38.2 101,217 15,438 | -31.3| -28.0| 6.72 6.88| 6.88 6.56 23| -4.6
8 |[E7] 24,554 6,516 -9.8| -3.3 91,382 24,638 -4.3 2.4 404| 3.77| 3.97| 3.71 -6.6| -6.6
9 [€z[H 22,878 5,9400 1.4 20.7 86,508 22,471 -8.9 20.9 4.72 3.85 5.11 3.85| -18.3| -24.7
10 |ZtEC|of 19,613 5,514 —24.6 | -23.9 72,952 20,208 | -19.0| -13.0| 3.59| 3.56| 3.88| 3.61 -0.9| -6.9
11 |54 18,667 6,465 —14.1 -6.8 67,145 24,913 -7.7 05| 3.13| 289| 293| 270 -7.8| -8.1
12 |22t Al 18,489 3,495) -18.6 13.7 63,984 11,057 -9.4 2.8 7.39 5.29 6.56 5.79 | -28.4 -11.8
13 |o|Erz|of 16,975 5,412 -14.2| -12.6 64,168 22,938 -5.4 28| 319| 3.14| 3.04| 280 -1.8| -8.0
14 [EN= 15,360 3,688] -10.6| —-11.2 62,408 14,695 -55| -59| 413 416| 4.23| 4.25 0.7 0.4
15 |l =(2IC]o}) 13,895 6,339 -10.4 1.6 47,445 22,921 -4.8| 15.1 2.48 | 219 250 2.07| -11.8]| -17.3
16 |AFSCl|ot2lH|of 13,802 2,365] -38.8 | -21.1 53,625 8,376 | —25.3| -14.5| 7.52 5.84 | 7.33 6.40 | —22.4| -12.7
17 |Z=A 13,296 2,076] -8.6| -26.8 47,745 7,676 -7.9| -13.9| 5.13 6.40 | 5.82 6.22| 24.8 6.9
18 |2 2l 12,730 3,661 0.6 21.1 47,290 14,489 125 272| 4.18| 3.48| 369| 3.26| -16.9| -11.6
19 |ojQknot 12,616 1,018 —22.2| -13.7 34,913 2,832 | -17.7| -15.5| 13.74| 12.40| 12,66 | 1233 -9.7| -2.6
20 |CHEt 12,414 2,692 —13.1 1.9 47,617 10,047 -6.7 1.2 5.41 4.61 5.14 474 147 -7.8
21 |E= 11,374 3,506] -18.9| -23.5 44,433 13,640 | -11.5| -10.2| 3.06| 3.24| 3.30| 3.26 6.1 -1.4
22 |HAI= 10,657 2,353] -30.5| -26.4 40,731 9,823 | -18.3| -88| 4.79| 453 463| 4.15| -55| -10.4
23 [ Alot 9,054 2,500 -20.4| -12.9 33,853 9,123 | -16.4| -19.4| 3.97| 3.62| 3.58| 3.71 -8.7 3.7
24 |FHLtct 8,983 2,034] -8.0| -23 34,044 7,386 85| 19.8| 469 4.42 5.09| 4.6 -5.8| -9.5
25 |22 7,906 2,682 -29.2| -13.0 25,924 8,578 | -33.6 -20.9| 3.62| 295 360| 3.02| -18.7| —-16.1




43 9 7R AN (A9 2571=)
cHel. ME, &, %
oo - 164 48 (HE) SUHE(EE) 164 42 (F=4) Sas(FA) | TAcHEE) | FAeHEA) | EOHEHE)
=T = =N =2 =4 =t =4 =2 =4 & | 1549 | 164 | 15dA [ ed | &l | £Al
B 1,108,332 155,903] -3.7| -2.0 4,526,835 580,856 -1.1 38| 7.23|( 7.11 817 | 7.79| -1.7| -4.7
1 &= 504,092 79,432] -9.0| -4.0 1,921,453 288,528 -5.1 3.2 6.70 6.35 7.24 6.66 | -53| -8.1
2 |HEY 213,876 25,4450 18.7| 21.9 949,345 93,250 13.7| 23.2| 8.64 8.41| 11.03 | 10.18| -2.7| -7.7
3 [el=U|Alof 61,621 10,367 0.8 -2.2 254,133 37,881 -0.8 0.8 5.76 5.94| 6.81 6.71 3.1 -1.5
4 |O|Etz|o} 37,426 603] 13.7 10.6 172,954 2,552 -0.5| 15.1| 60.33| 62.05| 78.40 | 67.77 2.8 -13.6
5 (&= 34,332 5,411 26| -15.9 143,295 23,617 13.1 72| 5.20 6.35 5.75 6.07 | 21.9 5.5
6 |el=(elc|of) 31,347 8,533 -17.6| -14.5 125,831 33,078 | -12.7| -9.5| 3.81 3.67| 3.94| 380| -36| -3.5
7 |o|Qfo} 27,378 1,250 —20.1 | -17.6 118,115 4,790 | -125| -8.8| 22.60| 21.90| 25.70| 24.66 | -3.1 -4 .1
8 |[o|= 25,311 2,734 -9.8| -11.2 101,537 10,595 -8.6| -3.7| 9.11 9.26 | 10.10 9.58 1.6 -5.1
CHEEEE R 20,900 1,339 0.3]| -12.3 89,297 5,784 6.2 6.7 | 13.64 | 15.61 | 15.52 | 15.44 144 -0.5
10 |Z==A 19,147 91] -8.3| -55.9 77,154 726 -4.6| 25.4(100.97 |209.88 [139.61 [106.21 | 107.9 | -23.9
11 |Ef= 15,772 4979 -7.6 31.9 74,156 19,471 -3.7| 10.9| 4.52 317 | 4.39 3.81 | -29.9| -13.2
12 |ZEClot 11,815 451 -15.3 | -18.9 51,041 1,891 -0.6| -0.5| 25.04| 26.17 | 27.02 | 26.99 45| -0.1
13 |cHet 9,782 2,1200 -58]| -7.4 35,144 7,899 | -12.9| -6.9| 4.54| 4.61 4.76 4.45 1.7 -6.4
14 |Z2fo|Alo} 9,642 4,681 -12.8| -7.2 36,288 17,772 | -17.4| -95| 219| 2.06 2.24| 2.04| -6.1 -8.8
15 (Ze|H 9,473 562] -2.3| -8.8 44,924 2,545 15.7 3.0 15.74| 16.85| 15.71 | 17.65 7.0 12.4
16 |ot7| AE 7,380 1,742 —-42.9| -46.2 35,236 8,498 | —22.9| -23.1 3.99 | 4.24| 4.13 415 6.2 0.3
17 |=4 6,939 686 8.7 40.7 28,704 2,711 7.1 29.9| 13.10| 10.12| 12.84| 10.59 | -22.8| -17.5
18 |E{7] 6,420 236 0.7| -33.6 30,481 1,073 8.8 -18.2| 17.96 | 27.25| 21.36 | 28.42| 51.7| 33.0
19 |Am el 4,819 g6l -17.2| -36.8 19,629 422 -4.8| 14.8| 42.61| 55.87 | 56.17 | 46.55| 31.1| -17.1
20 (&= 4,785 491} -6.5 49.2 20,348 1,483 -0.6| 20.6| 15.54 9.74 | 16.65| 13.72 | -37.3| -17.6
21 |[2AEz|o} 4,747 1,685 -8.1| -13.7 16,390 5,815 | -16.0| -16.7| 2.65| 2.82 2.79 2.82 6.5 0.9
22 |xz2EBEZ 4,384 87] 26.6| 28.0 19,763 300 19.5 1.3| 50.99 | 50.41 | 55.84| 65.86 | —1.1 17.9
23 |HA|Z 4,070 431] 137.9| 486.8 10,647 920 | 103.4 | 306.3 | 23.31 9.45| 23.13 | 11.58 | -59.5 [ —49.9
24 |A2|2F} 3,635 307] -20.4| -35.8 20,102 1,092 13.0 | -27.1 9.55| 11.84 | 11.88 | 18.41 24 1 55.0
25 |223 2,871 520 435 32.7 9,570 177 29.7| 38.8| 51.02| 55.17 | 57.89 | 54.11 8.1 -6.5




